
DALIS D / DX
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Standard colour: white RAL 9016
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W H D C B

450 776 92-112 400 45-65 250 0,61 6,5 3,2 300

450 1154 92-112 400 45-65 250 0,91 9,5 4,8 300

450 1742 92-112 400 45-65 250 1,39 14,3 7,4 600

600 776 104-124 550 45-65 400 0,78 8,0 4,0 300

600 1154 104-124 550 45-65 400 1,16 11,7 5,9 600

600 1742 104-124 550 45-65 400 1,77 17,8 9,1 900

750 776 120-140 700 45-65 550 0,95 9,6 4,7 300

750 1154 120-140 700 45-65 550 1,42 14,1 7,1 600

750 1742 120-140 700 45-65 550 2,17 21,4 10,8 900

Horizontal tubes: Vertical manifolds:

Finishing and warranty:

Mounting brackets: brackets in the same colour as the radiator are included

Valve: order separately

Heater :

Accessories:

Working pressure: 10bars

Maximum temperature: 120 oC

Connections:

– inner threads G 1/2

– air-vent plug G 1/2 screwed

in the upper hole of the

collector, included

Remarks:
lacquered towel rails in colours other than white have different

types of brackets and spacing.
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Nanoceramic (zirconia coating) + polyester-epoxy lacquer;
5 year warranty;
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360 324 190

531 478 277

811 728 420

466 420 246

687 618 360

1050 943 544

570 513 300

839 755 441

1283 1152 664
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